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*** Start change 1 ***
A.14.3.8
SDP answer from MTSI client in terminal supporting dual-mono for send direction
This example shows the SDP answer when the MTSI client in terminal supports dual-mono only for the send direction.

Table A.14.13: SDP example

	SDP answer

	m=audio 49152 RTP/AVPF 97
a=acfg:1 t=1
b=AS:42
b=RS:0

b=RR:2000

a=rtpmap:97 EVS/16000/2
a=fmtp:97 br-send=16.4; br-recv=24.4; bw-send=swb; bw-recv=nb-swb; ch-send=2; ch-recv=1; max-red=220
a=ptime:20

a=maxptime:240


Comments:

The SDP answer contains a dual-mono session consisting of two 16.4 kbps SWB channels for the send direction, and a mono session consisting of 24.4 kbps for the receive direction.
*** End change 1 ***
